
Timely Practice percent strand 3 new learning questions

CALCULATOR OK

1. A pair of boots has a ticket price of £85.00

All boots are 45% off the ticket price in the end of season sale.

How much will the boots cost in the end of season sale?

2. The cost of furniture in a shop is to rise by 15% due to the rise in the price of wood.

A wooden table costs £160 before the prise rise.

What is the new price of this desk?

3. A compost bin normally costs £18.00

Madhu gets 15% off the price.

How much will he pay for the lawn mower?

4. A holiday to Bruges costs £380 in May.

The holiday costs 36% more in August.

How much does the holiday cost in August?

5. An adult cinema ticket full price is £11.00

The cinema is running a 35% off the ticket price sale on Tuesdays.

How much will an adult ticket be on Tuesday ?

Answers 1) £46.75 2) £184 3) £15.30 4) £516.80 5) £7.15
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